
 

 

 

 

  



 

 

https://www.eba.europa.eu/documents/10180/2282666/Guidelines+on+common+procedures+and+methodologies+for+SREP+and+supervisory+stress+testing+-+Consolidated+version.pdf
https://www.eba.europa.eu/documents/10180/2282666/Guidelines+on+common+procedures+and+methodologies+for+SREP+and+supervisory+stress+testing+-+Consolidated+version.pdf
http://eur-lex.europa.eu/legal-content/EN/TXT/PDF/?uri=CELEX:32013R0575&from=en
https://www.reglugerd.is/reglugerdir/eftir-raduneytum/fjarmala--og-efnahagsraduneyti/nr/0233-2017


𝐾 = (𝑋 − 𝑌) ∗ 𝐵𝑜𝑜𝑘 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑙𝑜𝑎𝑛𝑠 ∗ 8%

𝐾 = (𝑋 − 𝑌) ∗ 𝐵𝑜𝑜𝑘 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑙𝑜𝑎𝑛𝑠 ∗ 8%



 

 

𝐾 = 𝑀 − (𝑀 ∗ 𝑅𝑊 ∗ 8%)

𝑀 = 𝐵 − 𝐸 + (𝐻 ∗ 𝐸)

 

𝑀 = 640 𝑚 𝐼𝑆𝐾 = 1.000 𝑚 𝐼𝑆𝐾 − 1,200 𝑚 𝐼𝑆𝐾 + (70% ∗ 1,200 𝑚 𝐼𝑆𝐾)

𝐾 = 589 𝑚 𝐼𝑆𝐾 =  640 𝑚 𝐼𝑆𝐾 − (640 𝑚 𝐼𝑆𝐾 ∗ 100% ∗ 8%)
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http://www.althingi.is/lagas/nuna/1997075.html
https://www.fme.is/log-og-tilmaeli/vidmid-fme/nr/2445


 

 



𝐾 = (𝑋 − 𝑌) ∗ 𝐵𝑜𝑜𝑘 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑙𝑜𝑎𝑛𝑠 ∗ 8%

https://www.bis.org/bcbs/publ/d424.pdf


 

 

 

𝐾 = (𝑋 − 𝑌) ∗ 𝐵 ∗ 8%

 

 

 

𝐾 = 𝑂𝑓𝑓 𝑏𝑎𝑙𝑎𝑛𝑐𝑒  ̶𝑠ℎ𝑒𝑒𝑡 𝑒𝑥𝑝𝑜𝑠𝑢𝑟𝑒 𝑜𝑓 0% 𝑐𝑜𝑛𝑣𝑒𝑟𝑠𝑖𝑜𝑛 𝑓𝑎𝑐𝑡𝑜𝑟 ∗ 10% ∗ 8%

https://www.bis.org/bcbs/publ/d347.pdf




 

𝐾𝐼 = 𝑀𝑎𝑥[𝐿𝐼(1 − 𝑒2(0.08−𝐺𝐼))0.02 ; 0

𝐾𝐶 = 𝑀𝑎𝑥[𝐿𝐶(1 − 𝑒2(0.08−𝐺𝐶))0.05 ; 0]

𝐾𝐹 = 𝑀𝑎𝑥[𝐿𝐹(1 − 𝑒2(0.08−𝐺𝐹))0.05 ; 0]

 

𝐿 = 𝑇𝑜𝑡𝑎𝑙 𝑙𝑜𝑎𝑛 𝑝𝑜𝑟𝑡𝑓𝑜𝑙𝑖𝑜 (𝐶𝑙𝑎𝑖𝑚 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑙𝑜𝑎𝑛𝑠)

𝐺 = 𝐿𝑒𝑛𝑑𝑖𝑛𝑔 𝑔𝑟𝑜𝑤𝑡ℎ 𝑜𝑣𝑒𝑟 𝑡𝑤𝑜 𝑦𝑒𝑎𝑟𝑠 − 𝑎𝑛𝑛𝑢𝑎𝑙𝑖𝑠𝑒𝑑 (𝑔𝑒𝑜𝑚𝑒𝑡𝑟𝑖𝑐 𝑎𝑣𝑒𝑟𝑎𝑔𝑒)

 

𝐺 = (
𝐿𝑡

𝐿𝑡−2
)

0.5

− 1



𝐻𝐻𝐼𝑆𝑁 = ∑ (
𝐸𝐴𝐷𝑖

𝐸𝐴𝐷𝑇𝑜𝑡𝑎𝑙 𝑛𝑒𝑡

)
2𝑛

𝑖=1

 

 

n

 

 i  

KSN = 1.96 ∙ HHI 𝑆𝑁 ∙ EADNet
16

ʹ ʹ



vi =
σi

σ̅



σ̅

σ̅

σ̅ =
∑ σi

n
i=1

n

ρ

ρi,j =
cov(i, j)

σi ∙ σj

si =
EAD i

∑ EADi
𝑛
𝑖=1

ai = si ∙ vi

L = √𝐚T ∙ 𝐑 ∙ 𝐚

KSector,u = 13.5% ∙ (
L − LIceland

LIceland
) ∙ ∑ EADi
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i=1



KSector = 4% ∙ (
L − LIceland

vvol − LIceland
) ∙ EADTotal

vvol

Δ







 

 

 


